	ACTON'S FUTURE RESILIENCE:
	
	

	
	
	
	

	 
	Alt. 1
	Alt. 2
	Alt. 3

	Natural environment?
	4
	40
	27

	Why?
	- Least bad
	- Open Space
	- Open space

	 
	- Limits commercial development
	- Fewer people + more open space
	- Less driving

	 
	- Open Space
	- More open space, fewer people, sidewalks, less water use
	- More walking or biking

	 
	- Small scale housing
	- Fewer people
	- Reduced carbon footprint

	 
	- Not enough preservation of open space
	- Option to blend w/ Alt. 3
	- Control of development outside of villages??

	 
	- Development w/ no sense of direction
	- Limits growth
	- Sewers??

	 
	- Phenominally consumptive
	- Buy open space
	- More people would walk/bike

	 
	 
	- Office park/commercial - out of view
	- Encourages public transit

	 
	 
	- Protect Rt. 2 entrance to town
	- Concentration of growth leads to land being left undeveloped

	 
	 
	- Concentrates on open space preservation
	- Best village possibility

	 
	 
	- What the town was like long ago - more rural/open
	- Most pedestrian-friendly

	 
	 
	- Fewest people
	- Fewer cars

	 
	 
	- Most open space
	- Condesnsed infrastructure

	 
	 
	- Open space
	- Increases likelihood of appreciating open space elsewhere in town

	 
	 
	- Water
	- Concentrated utilities + infrastructure

	 
	 
	- Population
	- Open space

	 
	 
	 
	- Better carbon footprint

	Town character? 
	5
	20*
	32

	Why?
	- not this
	- would not harm town character
	- nicer villages for people to spend time

	 
	 
	- retail would give back
	- improve + develop town character + keeps trees

	 
	- stays the same (2x), good + bad
	- rural feel, more the same
	- need to keep individual character of each village

	 
	- good for open space
	- limits growth
	- design review

	 
	- town record of controlling growth
	- most open space preserved (3x) 
	- most potential for vibrant centers for create character

	 
	- why people moved here
	- less traffic
	- preserve rural

	 
	- more of the same - 2A continues to be the business zone
	- park
	- strongest historic preservations + design review

	 
	 
	 
	- more walkable villages improve town center

	 
	 
	 
	- economic diversity

	 
	 
	 
	- can be done

	 
	 
	 
	- wall with care

	 
	 
	 
	- civic space

	 
	 
	 
	- more traffic?

	Economic viability? 
	4
	26
	34

	Why?
	- more retail
	- potential for higher economic development
	- potential for higher economic development

	 
	- money possible
	- risky (depends on corporations)
	- efficient use of infrastructure

	 
	- continue what we know
	- blend w/ 3
	- best chance for economic growth/+tax revenue

	 
	- no extra initial investment needed
	- limits growth 
	- fewer school age kids

	 
	 
	- increases value of housing
	- weak connections b/n economic development and only other alternative

	 
	 
	- tax benefits of commercial developments
	- smaller units might have fewer children? Fewer cars?

	 
	 
	- limits development to help w/ school costs
	- must convince to economic growth

	 
	 
	- commercial buildings always pay taxes
	- walk to stores

	 
	 
	- limited growth
	- redevelopment of existing areas

	 
	 
	- commercial viability 
	- lower cost

	 
	 
	- cheaper
	- promotes local commerce & therefore investment

	 
	 
	- diverse tax base
	- better position for future mixed use --> character-retail health

	 
	 
	 
	- diverse tax base

	Social fabric? 
	5
	1
	57

	Why?
	- cluster development is effective
	- open space can gather possibilities
	- village gathering

	 
	- we have become more diverse
	- can do all of these --> 
	- age diversity, economic diversity, places to hang out

	 
	- schools attract diversity
	- cheaper here! + sooner
	- difficult to get economic diversity

	 
	- build community
	- recreation
	- most volunteerism (Acton has a lot)

	 
	 
	 
	- helps w/ personal connections/sense of community (4x)

	 
	 
	 
	- cluster development might lead to more cultural activities

	 
	 
	 
	- foster Acton being open

	 
	 
	 
	- different cultures, ethnicities, etc (2x)

	 
	 
	 
	- increase diversity of housing stock

	 
	 
	 
	- more face to face interactions

	 
	 
	 
	- (more homeless?)

	 
	 
	 
	

	 
	 
	 
	

	
	
	* + 6 votes for a 2/3 combination
	

	
	
	
	


